B REEAL 109 25 R LHE 4 AR

#8 ke WA AM D 2REERREB KA

AEE]

ARBE 1B RRAASER AL SRNAR ALY 2EERARABRELEN  FAKRRE 02

F& B8 S8 10 5

1.

~

o0

o

€ ko By =4 ;ﬁ(l)i—y (2)ho J 2 45 BE (1, \B) AR b B9 4 R e &2
3_-‘(‘ °
Az=f(x,y)=ye® » KB dz o

KB z=f(x,y)=In(P+y)Y &I f, > f [, REWD dz o

JKK T AE \Ix Inxdx =

- BRI [ S5—xdx o

. KFE \j j"lnxajadx °

L REERH \I Ixye”dxdy

A& S =3 -2y 0 AR SRR AR BB -
. A Lagrange # 3% 5 BALRI A » R E AR A4

3
Max. 20x2y
S.t. x+y=60

10. Bfo—Fdy=/() * FH-BEFHSO=2RHBED? BT /D=2%4

Ji

3r
J@‘ ‘?\1‘ ?



